
Opérations avec deux fractions (C)

Nom: Date: Note:

Calculez chaque résultat.

1.
65
17 −

2
8 =

2.
2
4 ×

67
19 =

3.
20
7 − 55

20 =

4.
58
19 −

2
5 =

5.
10
9 ÷ 65

17 =

6.
23
9 + 31

10 =

7.
54
16 ×

3
6 =

8.
3
5 +

18
7 =

9.
5
3 +

24
7 =

10.
11
4 × 3

2 =

MathsLibres.com



Opérations avec deux fractions (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1.
65
17 −

2
8 = 520

136 −
34
136 = 486

136 = 243
68 = 33968

2.
2
4 ×

67
19 = 134

76 = 67
38 = 12938

3.
20
7 − 55

20 = 400
140 −

385
140 = 15

140 = 3
28

4.
58
19 −

2
5 = 290

95 − 38
95 = 252

95 = 26295

5.
10
9 ÷ 65

17 = 10
9 × 17

65 = 170
585 = 34

117

6.
23
9 + 31

10 = 230
90 + 279

90 = 509
90 = 55990

7.
54
16 ×

3
6 = 162

96 = 27
16 = 11116

8.
3
5 +

18
7 = 21

35 +
90
35 = 111

35 = 3 635

9.
5
3 +

24
7 = 35

21 +
72
21 = 107

21 = 5 221

10.
11
4 × 3

2 = 33
8 = 418
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